Calculate your drug costs under the Republican Conference Committee plan

1.
(total yearly drug costs)
(yearly = monthly X 12)

2.
Donut Hole (Gap in coverage
that seniors must cover
themselves)

4.
(Catastrophic Copay)

5.
(Deductible)

6.

(CO-pay)

8.
(Yearly premium)

9.
(YOUR TOTAL COSTS)

Enter your total yearly drug
costs on line 1.

Acre your total
yearly drug costs
over $5,100?

Avre your total
yearly drug costs

between $2,250 and
$5,100?

Donut Hole. Enter your
Yes $2,850 for costs you will

Costs are less than $2,250.
Enter O on line 2, 3, 4.

\ 4

If you yearly drug costs are
less than $250. Enter 0 on
line 5, else your yearly
deductible is $250. Enter
$250 on line 5

A 4

Co-pay (Part One)
Subtract $250 from total

have to cover yourself on
line 2.

Catastrophic Copay.
Subtract $5,100 from
line 1. Enter result on

Calculate Donut
Hole: subtract

$2,250 from your line 3. Multiply line 3
total yearly drug by .05 and enter result
costs. Enter result on 4.

on line 2. Enter 0 on

lines 3 and 4. v

Yearly deductible is
$250. Enter $250
h 4 on line 5.

Yearly deductible is
$250. Enter $250
on line 5.

Co-pay (Part One)
Subtract $250 from <
$2,2500. Enter result
on line 6.

Y

TIP: To
calculate
percentage of

yearly drug costs. Enter
result on line 4.

A 4

costs you will
have to cover:

Co-pay (Part Two) P
Multiply line 4 by 0.2. Enter [~

result on line 5. Divide line 9
by line 1 and
multiply the

v result by 100.

GOP estimates yearly

premium as $35/m = $420/y.

Enter $420 on line 6.
NOTE: Seniors and

income greater than

l disabled with retirement
$80,000 will have to pay

higher Medicare Part B
premiums. Low-income
seniors with retirement
income below 150
percent of the federal
poverty level will

Add 2+4+5+7+8

Enter total on line 9. This is
the amount you will have to
pay under GOP plan.

receive additional
subsidies




